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exerl-l.c

code

#include <stdio.h>

int main() {
int a, b, c;
scanf("%d %d %d", &a, &b, &c);
double x = (double)(a + b + c) / 3;
printf("%s.2f\n", x);
return 0;

result

Test 1 passed
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. Passed: 3
. Failed: O

exerl-2.c

code

#include <stdio.h>

int main() {
double a, b;
scanf("slf %Lf", &a, &b);
if(a>=b) {
printf("a: SLf b: %slf\n", a, b);
} else {
printf("b: %lf a: %lf\n", b, a);
}

return 0;

result

Test 1 passed
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. Passed: 2
. Failed: O

exer2-1.c

code

#include <stdio.h>
int main() {

for(int 1 = 0; i < 9; i++) {
for(int j = 0; j < 9; j++) {

printf("s2d ", (i + 1) * (j + 1));
}
printf("\n");
}
return 0;
}
result

Test passed
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. Passed: 1
. Failed: 0

exer2-2.c



code

#include <stdio.h>

int main() {

int n;
scanf("%sd", &n);
int count = 0;
for(int i = 1; 1 <= n; i++) {
if(n % i ==0) {
count++;
}
}
printf("sd\n", count);
return 0;
}
result

Test 1 passed
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. Passed: 3
. Failed: 0

exer3-1.c

code

#include <stdio.h>

int main() {
int a, b, c;
scanf("%d %d %d", &a, &b, &c);
(

if((a==b) && (b==c)) {
printf("=2>DEIEEL W\N");
} else
if ((a==b) ||
(b==c) ||
(c==a)) {
printf("Z2ODEAZELW\N");
} else {
printf("=2DEIEERS\n");
}
return 0;
}
result

Test 1 passed
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Test 3 passed
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Test 4 passed
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Test 5 passed
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. Passed: 5

. Failed: O
exer3-2.c

code

#include <stdio.h>

int main() {
int a;
scanf("%sd", &a);



int count = 0;
while(count < a) {
count++;
printf("*");
if (count%20 == 0) {
printf("\n");

}
}
printf("\n");
return 0;
}
result

Test 1 passed
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. Passed: 2
. Failed: 0



